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 "The fight with traditions - this is the first
that a new idea will go through;
   before it is firmly fixes in the minds "
E. Parnov.
The proposed invention relates to the field of producing a substance with hitherto unknown gravitational properties. On Earth known substances are characterized by the fact that in gravitational field of the Earth in a free fall they have the same acceleration g = 9,8 m / s ². Below there is a substance that is in a free fall in the gravitational field of the Earth can fall to the ground with an acceleration differ 

from g = 9,8 m / s ². This substance is called "The Gravitationally polarized material". In the gravitational field of the Earth it could fall down with acceleration less than g or greater than g.

Gravitationally polarized material is characterized by the fact that it has a pronounced axis of inertial mass and perpendicular to it a pronounced plane of gravitational mass.

Gravitationally polarized material or body made of such substance, characterized by the fact that in a free fall in the gravitational field of the Earth it falls to the ground with an acceleration greater than
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, if the fall line of the body coincides with the gravitational plane of the body; and if the fall line of the body coincides with direction of the inertial mass of the body, then it falls to the ground with an acceleration less than
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. Acceleration of the gravitationally polarized body in free fall in the gravitational field of the Earth will depend on the degree of polarization and the orientation of the body relatively to the line of gravity.

Gravitational-polarized material, having directed gravitational interaction, can be used in various fields of human activity, and especially can replace the engine in all vehicles. For example, in the spacecraft it will replace the aircraft jet engine.

How can spaceship, which uses gravity-polarized substance instead of a jet engine, be launched? At the end of the day, when the Earth is orbiting at the rate of 
[image: image3.wmf]s

km

30

, and it is ahead of the spacecraft, and the spacecraft is on the Earth, and of course it is behind the Earth, using the orbital direction as a guide. It is necessary to orient the axis of inertial mass of the gravitationally polarized material of the spacecraft in the direction of the orbital revolution. In this case, the gravitational communication of the material, therefore, the communication of the spaceship with Earth reduces. Also decreases the gravitational communication of the material, and therefore, communication of the ship in the direction of the gravitational field of the solar system. In this case, the spacecraft loses the ability to move in an orbit of the Earth at a rate of 
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 and, therefore, it will remain behind from the Earth on its orbit. A man on the Earth, watching the launching of a spaceship, sees that the spaceship enters into space "falling up."
Deploying aboard the spacecraft gravitational spacecraft of the substance to the direction of the Earth, the gravitational interaction with the Earth will give the spacecraft the necessary speed in space.

Gravitationally polarized material can be used as a source of the impetus in submarines. In this case, the submarine could gain under water any reasonable rate of movement, because it does not need a mover, the device to repel the water. Thus the design of the submarine can be executed in a way, permitting to launch into space just from the water.

The alleged invention is designed on the basis of the fact that in Nature there is an Unified Principle of Interactions (UPI), which can be expressed with formula: 
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  - A vector characteristic of each and every point in space, despite the position of the point, it is material nature of the point. The totality of these points creates a vector field or an elementary particle.

 
[image: image7.wmf]r

 - The distance between the points.
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   - The change of vector characteristic of the space at the distance
[image: image9.wmf]dr

,


[image: image10.wmf]F

  - The force of mutual attraction that occurs between two points at the distance
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.
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  - Conversion factor.

The UPI expressed by the formula [1], is none other than the mathematical formulation or mathematical expression of known philosophical category "matter."

In any textbook on philosophy, materialist philosophy, the statement about the materiality of the object can be found. The object is material if it has attributes:

1. The object must have at least one quality.

2. The quality must express itself, interact, i.e. should be a mechanism of interaction.

3. It must be a result of the interaction.

In our case, 
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 - a vector characteristic of the point is the property by which the materiality of the point reveals itself.

In figure 1, "a" and "b", it is clearly shown the mechanism of interaction. At the macrocosm level, the mechanism of interaction (UPI) states: "If there is a relative tangential velocity between the bodies, then there is the force of mutual attraction between these bodies."  As it is shown in figure 1, from one point come two mutually perpendicular vectors: 
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. They form a plane, i.e. that mechanism of the interaction reveals itself in the plane. And as it is shown by the mechanism of interaction, outlined above, the vector feature 
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 - is the velocity vector.
                The mechanism of interaction of material points 
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                      Scheme of vector fields in any plane of space.
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                                                     Pic. 2
Due to the fact that the mechanism of interaction manifests itself in the presence of relative tangential velocity, in the world rotation dominates.

Due to the fact that the UPI expresses the materiality of the world, all known types of interaction: mechanical, gravitational, electrical, magnetic, atomic, and nuclear etc - are a special case of the UPI. This allows us to determine the nature of all types of interactions.

The aggregate of points in space that have a vector characteristic form a vector field. Pic. 2, Fig. "a" and "b" shows the possible vector fields in any plane of space.
In Picture «2» diagrams of vector fields are shown in such way that there is always a gradient of vector characteristics of the field, i.e. 
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 . If at any point of the field appears a condition
[image: image20.wmf]0

=

dP

, then the strength of the interaction
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. In the field appears a "break point". Break point is characterized by the fact that it creates two elementary particles: the particle and antiparticle. About the "break point" we can also say that the system at this point reached 100% of entropy, and the curvature of space at this point is zero.
                             Schemes elementary particles
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Pic.3, in Fig. "a", "b" and "c" are shown the schemes of elementary particles.
 Elementary particles are characterized by the following:
1. the interaction occurs in the plane, that`s why the particles are flat, two-dimensional;
2. particle has a certain size D;
3. particle has the velocity distribution profile, which display the rotational movement;
4. particles do not have translational motion.
 
Picture 3, Fig. "a", an elementary particle rotates as a solid body.
 
Picture 3, Fig. "b", an elementary particle does not rotate as a solid body; the gradient of vector characteristics of the particle may change according any law. In this regard, in the world can be produced infinite multitude of different elementary particles. Picture 3, in Fig. "c" shown a diagram of the forces that form the elementary particle.
 
As the epure is symmetric relatively to the center of the elementary particles, the forces acting in the particle compensate each other, i.e. the resultant force is equal to 0, and the particle does not have translational motion.
 
To keep the size D the particle must be absolutely rigid, the force F should be applied immediately. Otherwise, the particle under the influence of internal forces F has to collapse.
     Scheme of interaction of elementary particles with an external vector field.
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     Scheme of interaction of elementary particles with an external vector field.
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In Pic. 4 is shown a diagram of the interaction of elementary particles with an external field on the basis of the UPI. Points A, B, C, E with vector characteristics
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 are the representatives of the external field. The particle has size D and the epure of vector field
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. Epure represents the velocity field of the rotational motion of the particle. The rotational motion of elementary particle in physics has been called the spin of elementary particle.

In result of interaction of the points of an elementary particle with an external field
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appears resultant force
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, which is applied to the point A of the external field. The particle is flat and the interaction occurs only in the plane. This interaction of elementary particles can be called a gravitational interaction. And this shows the gravitational mass of an elementary particle. The interaction occurs only in the plane in which there is the plane of an elementary particle. This plane of the particle can be called the plane of gravitational interaction.
 
In result of the interaction, resulting force
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 occurs, which leads to the translational motion of the elementary particles in the direction of the force.
 
In Pic. 5 shows a diagram of the interaction of elementary particles with an external field on the basis of the UPI. It is easy to see in this scheme, when the external field
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 penetrates the plane of the elementary particles, in the particle resultant force
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 doesn`t occur, and therefore, the particle does not receive a translational displacement. The particle is at absolute rest, and in such way inertial mass of an elementary particle manifests itself. And it must be said that the inertial mass is the infinitely large, because 
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 and the translational displacement of the elementary particle is default, the particle is at absolute rest. Elementary particle at the moment of interaction can be seen as a closed loop, which runs through the external field
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. And the whole process of interaction between the particle and the field, we place in Maxwell's theory for the electromagnetic field. When the particle, when the circuit of the particle works as "generator", the particle obtain the energy; when it works as "engine", the particle gives the energy. This process of interaction leads naturally to a change in the vector epure of the elementary particle. The change of vector epure of the elementary particle can cause the appearance of "break point" that will lead to death, destruction of the elementary particle.
In Pic. 4 and Pic. 5, we consider two types of interactions of two-dimensional elementary particle with an external field. But each type of interaction has two states: the second - when the particle turns the half-circle relatively to the field. There are four states of interactions of the elementary particle with the external field. From the interaction of two-dimensional elementary particle with the external field, we can make  the following conclusions:
• elementary particle manifests itself  as a process that occurs over time and space;
• elementary particle is gravitationally polarized, i.e.it has the plane of the gravitational interaction and has a direction perpendicular to this plane, in which manifests inertial masses of elementary particles;
• in result of the interaction the particle  obtains the three dimensionality ;

• the particle receives translation in the result of gravitational interaction, which manifests itself in a particular direction periodically, i.e. the interaction is pulsed; displacement too.
• As a result of the process, when the particle periodically goes through four states, the particle acquires wave properties;
• gravitational polarization caused by the two-dimensionality of the elementary particles, leads to the quantum nature of the interaction;
 
As shown above, the elementary particle cannot have translational motion without any interaction with the external field. And any physical body is a set of elementary particles. Consequently, the physical body cannot have translational motion in space without interference.
 
It should be noted that in nature there is no Newton's First Law of Motion to the extent that the body can move in space by itself, without interaction. It is appropriate to describe the experiment in a closed, isolated lab, which would show: if the laboratory is in a state of absolute rest or in a state of uniform motion. Here is that experiment.
 
In 1933, Italian physicist Bertolli ran an experiment. He speeded up the electrically neutral top to such speed of rotation that around the top appeared a magnetic field. If we run such experiment in a closed, isolated lab, after we get a clear magnetic field, we can see that if the laboratory is at absolute rest, the magnetic axis of the top coincides with the kinematic axis of the top; if the laboratory is in uniform rectilinear motion, the magnetic axis doesn`t coincide with the kinematic axis. This experiment finds confirmation on the Earth. Because of rotation of the Earth, it has a magnetic field. And due to the fact that the Earth also has the translational motion, the kinematic axis of the Earth doesn`t coincide with the magnetic axis.
 
As it was shown above, each elementary particle is gravitationally polarized, i.e. it has a plane of gravitational mass and perpendicular to it has a direction in which inertial mass of the elementary particle manifests itself.
 
The material represents a set of elementary particles. A solution to the problem of the implementation of the putative invention comes down to ensuring the synchronization of the gravitational properties of the elementary particles in the direction and saving this synchronization in time.
 
Earlier we discussed the nature of the mass of the material, the essence of gravitational mass and inertial mass entity. Consideration of the nature of the mass allowed formulating the problem, the problem of the present invention.
 
Below, we consider the nature of the electric charge, which will allow us to come to the realization of the proposed invention.
 
In Pic. 6 is shown a vector epure of the electron. In figure "a" the electron has a less energy, in figure “b” the electron has greater  energy
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                                 Scheme vector diagram of the electron 
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Scheme of the electron interaction with the external field
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In Picture 7 the electrons are in the outer vector field and interact with him only on the basis of the UPI.
In result of the interaction of the electron with the external field, the electron acquires a translational speed, which is added to the rotational speed of the electron. On the axis 0-0 comes out the speed epure of the electron`s points of one direction. In result of the interaction electron gets relatively point 0 to on the radius
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. The higher is the energy of the electron, the smaller is radius
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The orbital motion of the elementary particle in  result of its interaction with the external field is the essence of the electric charge. In this connection, there is a correlation.

е
[image: image41.wmf]const

D

V

D

V

b

b

a

a

-

×

=

×

=

 





[image: image42.wmf][

]

2


where 


е - the electric charge of the electron

[image: image43.wmf]V

 - the speed of the electron on the orbit

[image: image44.wmf]D

 - the diameter of the electron`s orbit  
The higher is the energy of the electron, the smaller is the radius of its orbit. Electron in the atom, after he lost energy passes to the outer orbit. The gravitational plane of the electron, electrically charged particle, is always in the plane of the orbit. Electron, after he has left the atom, does not lose its orbital motion, because it is always located in the external field, with which it interacts. Electron spinning around the nucleus of the atom, does not feel the inertial mass, i.e. there is no centrifugal force from inertia of the rotation. 
 
If the radius of the orbit of the charged particle will decrease and reach the radius equal to the radius of the particle, i.e. the center of the orbit will be in the particle, then the particle will be electrically neutral. 
Interaction scheme is electrically neutral particle with an external field
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In Picture 8 is shown a diagram of the electrically neutral particle. Electron in the atom orbits around the nucleus, not because the electron is negatively charged, and the nucleus has a positive electric charge, but because of the existence  of  the relative tangential velocity between them on the basis of UPI.
  
Nucleus of the atom concentrates centers of the orbits with the resulting formation of a sphere around the nucleus, electron shell. Electron leaves the atom in a different (perhaps any) energy state because of the lack of space for it in the electron shell of the atom.
 
It is appropriate to extract from course of physics "The motion of charged particles in electric and magnetic fields"/ Detlaf A.A. and Yavorsky B.M., Moscow/ "High School"/ 2002/  chapter 23 Fig. 23.3. and commentary to it p.4.
[image: image47.png]Fig. 23.3




“4. If a charged particle moves in a inhomogeneous magnetic field, the induction of which is increased in the direction of motion of a particle, then while the movement of the particles, the values ​​of r and h decrease. Consequently, the particle moves in torsion spiral that winds around the line of the magnetic field induction. The magnetic focusing of charged particles is based on this principle (eg, in electron optics)”. 
 
When the external vector field with which an elementary particle interacts, is randomly pointed in a space and then the trajectory of the particle in this space is also chaotic confused. The space in which the vector field has some specific areas: electric field, magnetic field, the elementary particle moves along a certain trajectory in a certain direction, Fig. 23.3.
 
The material presented above from page 9 leads to the generalization:
 
1. Translational motion of the body in space is possible only in the interaction of elementary particles of the body with an external vector field.
 
2. Nature of the movement of any elementary particle in space: the trajectory of the movement, rate of movement is such that the resultant force 
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1 is compensated or rather eliminated. Particle acquires a state of "weightlessness", which, for example, get the objects and people on Sputniks.
 
3. In Figure 5 is shown the state when the external field vector is perpendicular to the plane of the particle. In this state, initially force 
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1 = 0. If the particle in such state is at absolute rest, then its speed is 0. If the particle is in such state in the moving body, an atom, then its speed is still 0, and this rate is absolute. In this position, the particle can be turned out periodically. Therefore, the displacement of the elementary particles is quantum in space.
 
4. Elementary particle cannot move in space, and therefore the body, without any interaction with the external vector field also cannot move in space. Therefore, the Newton's First Law of Motion doesn`t exist in Nature. The consequences of such conclusions will be discussed later in the article.
 
The prototype of the proposed invention can be the magnetized permanent magnets. It is known, that in result of magnetization perpendicularly to the axis of magnetization is formed the plane, in which the planes of the electron`s orbit tend to shift. As a result, the magnetic fields of the electrons are added, forming a magnetic field of the material. Simultaneously with the process of reorientation of the electrons’ orbital planes is the reorientation of the gravitational plane of the electron as gravitational plane of the electron is always in the plane of the orbit of the electron. This reorientation of gravitational plane of the electron results in appearance of the gravitational plane of the material due to the gravitational mass of the electrons.
 
However, this prototype has some drawbacks:
1. Due to the fact that the synchronization of gravitational properties of material involves only electrons having a small mass, then the material gets weak gravitational interaction, and cannot be used as a gravity engine.
2. The presence of the magnetic field.
The task of implementing of the proposed invention is to ensure synchronization in the direction of both the electrons and other elementary particles of material, such as protons. Protons as electrons have an electric charge and, therefore, have an orbital motion. Because the electric charge of the electron is equal to the electric charge of a proton, there is a relation:
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 - speed of the electron on the orbit 
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 - diameter of the electron`s orbit
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 - speed of the proton on the orbit
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 - diameter of the proton`s orbit

In the U.S. Department of Energy was established the Jefferson Laboratory for studying the structure of the proton and the neutron. The results of investigations showed that depending on the angular momentum of the quarks, the proton "can be either spherical or torus or a pretzel in the shape of peanut."
 
Therefore, on the basis of the nature of the electric charge, the proton is the beam of the orbits. All of these forms are "drawn", created by the orbits of genuine proton, the size of which is 
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In this regard, the proton  as the beam of the orbits with size 

       (1.2 .... 1.36) 
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cm is virtual, it is  "drawn" in the space  by the true, not a virtual proton size of  which is 
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cm; like a picture on the TV screen, which is drawn by beam of electrons, and it is a virtual picture, created by a virtual proton. The density of the proton orbits in the figure may be different; in this regard one can speak about the distribution of the density of electric charge in the proton, which is virtual one, in connection with the information mentioned above. 
 
Synchronization of the gravitational properties of elementary particles of material and retention of it in time is achieved by using the crystal structure of the material and the crystal structure of the nuclei of the atoms of the material. Only very strong and stable nuclei of the atoms of the substance have crystal structure. The role, played by the electrons in the construction of the crystal structure of material, in the nucleus is played by protons.
 
Let`s consider the conditions for the formation of the crystal structure of the material and compare them with the condition of the formation of the nuclei of atoms. Scheme 9 Fig. 1 is shown a diagram of the interaction of 2 neighboring atoms of the material lattice. When two electrons are in phase 1 on the basis of the UPI, the force of their mutual attraction is maximum, in phase 2 it is minimal, in phases 3 and 4 the power of their interaction is zero.
 
Consequently, the interaction of the electrons of the two neighboring atoms of the substance is impulse that leads to the vibration of the atoms in the material, to their thermal motion. Because an atom may have a large number of electrons (assuming 100), in phase 1 the electrons join the interaction one after another. 
Interaction pattern of 2 neighboring atoms of the material and 2 neighboring protons in its nucleus.
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That results in increasing frequency of interaction and decreasing the amplitude of vibration of the atoms in the material, to a specific position of the atom in the material and, ultimately, to a periodic (crystalline) arrangement of atoms in a substance. In this regard, we can say that the more interaction pulses per unit of time, the better the position of the atom in the material, i.e. the better the conditions for the formation of the crystal lattice of the substance.
 
The analysis mentioned above shows that the crystalline structure of the material has three important factors (conditions):
 
1. Impulse interaction.
 
2. The number of pulses per unit time.
 
3. Pulse stability (stability of the atom).

We transfer these conditions to analyze of the elements of crystallization nucleus.
Referring to the literature:
 
(1) Berkeley Physics Course, Volume 4. "Quantum Physics", "Science", Moscow, 1977, page 74, fig. 33A and page 78, Figure 35A we see that the most stable (fixed) nuclei of the atoms have the same number of protons and neutrons, and that the number of these pairs from 25 to 50. Couple of proton - neutron is bounded together by interaction on the basis of the UPI. Proton is electrically charged particle, therefore, has an orbital motion. Neutron is neutral, therefore, has no orbital motion or the radius of its orbit is not greater than the radius of the neutron.
 
The system of the proton - neutron constructively copies the structure of the atom, in which the role of the kernel executes the neutron, and around the neutron there is a proton shell, performed by one proton due to its orbital motion. Refer Figure 9, p. 2. The size of the neutron is
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cm, in contrast to the virtual proton, whose size is (1.2 ... 1.36) 
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 cm.  Neutron can occupy a space with the size of 
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cm, due to interaction with the field. Fig.8.
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 - The diameter of the electron orbit
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- The diameter of the orbit of the proton 
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From the ratios [3] come out, that the proton`s velocity in the orbit is 
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10

times as much as velocity of the electron in the orbit. And the frequency of revolution of the proton around the neutron is 
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times as much as the frequency of revolution of the electron around the nucleus of an atom. Above was taken, that in the atom are ~ 100 electrons (actually less), than the number of pulses in the kernel between neighboring proton - neutron systems is 
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 times as much as pulses between adjacent atoms of the material.
 
It is easy to see that the stability of the pulses is 
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times as much as it is in the nucleus of the atom.
 
The mentioned above arguments and calculations show that the nuclei of atoms whose nuclei have 25 to 50 pairs of  proton - neutron systems create a crystal structure of the nucleus of the proton - neutron systems .
 
On the scheme 9 we can see, that the scheme of interaction of the atoms on the basis of the UPI in the crystal structure of the solid body and interaction of the proton – neutron system in the nucleus of the atom, as well on the basis of the UPI, are exactly the same. Analysis of the current experimental data on the strength of the atomic nuclei also shows the crystal structure of the nuclei. See "Course of Physics" A. A. Dettlaff , BM Jaworski/ Moscow /"High School"/ 2002,/page 630/ fig. 45.1.
 
The broken curve of the binding fraction depending on atomic number A says that the during the transition of the nucleus from one crystal lattice to another, the strength of the nucleus can be reduced or increased.
 
The essence of the proposed invention is that it assumes that the gravitationally- polarized material on the basis of synchronization of both electrons and other elementary particles of material, such as protons. Under the influence of external magnetizing field protons undergo the synchronization (like electrons) and the permanent magnets on the basis of the protons are obtained. To learn the fact that the nuclei of atoms can have a magnetic moment, see the article: "Electric and magnetic moments of nuclei"/ BSE/V. 30/ pp. 458/ Third Edition.
 
Magnetization, in which the external magnetic field affects both the electron shell of the atom and the nucleus of the atom, i.e. the protons will be called "deep" magnetization. There is need for the nucleus of the atom to have a crystal structure, for the magnetic properties of the material retained on the basis of the proton. It was mentioned above, that only particularly durable and resistant material can have the crystal structure. In Picture 10, Fig. 'A', is shown a diagram of a possible crystal structure of the nucleus of an atom in which the number of protons equals the number of neutrons. In the "deep" magnetized material, atoms and atomic nuclei which have a crystalline structure, magnetic fields are obtained from the nuclei of atoms and atoms, which cancel each other.
 
It remains only to gravitational polarization of electrons and protons.
 
The crystal structure of the nucleus, as it was shown above, is caused by the interaction of the proton of the nuclei with each other on the basis of the UPI. This interaction is similar to the interaction between the atoms in the material. This interaction is pulsed. In Scheme 10, Fig. "B" is shown the possible scheme of nuclei in which the number of neutrons exceeds the number of protons. In this nucleus there are neutrons that associated with protons with the external link. Neutrons with external relations "blur" the crystal structure of the nucleus and "blur" the magnetic moment of the nucleus after removal of the external magnetizing field.
 
Getting gravitationally polarized material  on the basis of the "deep" magnetization can be realized with the setup described in the literature: (2) "Berkeley Physics Course"/ Volume 2/ "Electricity and Magnetism"/ page 330/ fig. 101/ "Science"/ 1983


                      The scheme of the crystal structure of the atomic nucleus.
[image: image71.jpg]



Pic. 10.

 
By way of extension of evidentiary basis, the author gives below some physical processes that enable a better understanding of the theoretical basis of the proposed invention, that the proposed invention is feasible and necessary.
 
let`s consider how changes the potential E of the electric field with changing distance from the electrical charge. In  Scheme 11 "a" and "b" is shown the scheme for calculating the potential E of the electric field at the point M of the electron charge, Fig. "a", and the charge of a proton, Fig. "b."
On the basis of the UPI:
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On the basis of the formula {2} we have:
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The fact that the potential of the electric field decreases as square of the distance from the electric charge has been known long time ago. This is reflected in the Coulomb's law about the interaction of electric charges. The law was written on the basis of experiments, it was not possible to document the presence of term 
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 in the denominator. When the distance R is reduced to size that is commensurate with the size of the atom, to the size of r, then the value
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 is come into a force of interaction of the charges. Due to this fact the forces of interaction sharply increase. We get a short-range force. During the interaction of atoms, these forces are responsible for the strength of the solid body.
Scheme for calculating the capacity of the electric field E at the point M, depending on the charge of the electron and proton
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Pic. 11


Acting between atoms, such forces may be called by the atomic. These forces we feel in practice in everyday life. If you drop a pitcher of fragile material on the floor and broke the jug, then no matter how you puts the pieces together, a pitcher you do not teach. And this is due to the fact that you can not pull together fragments to each other at a distance comparable to the size of R, with the size of the atom itself.
Transfer the above stated arguments for proton circuit 11 "b." Write a formula similar to (4)
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We know that protons are in the nucleus of an atom. The interactions of the two neighboring protons in the nucleus lead to the appearing of nuclear forces between them. It is known to us for a long time, that these forces are short-range forces; and now we are stating that they are the forces of interaction of electric charges. And also it should be added that the description of the forces are the special case of manifestation of the UPI.
 
To implement a consistent problem of bringing to the phenomenon of polarization the elementary particle of the nucleus, where is the bulk of the atom, we must clearly know the physics of the atomic nucleus. In physics of the nucleus there is a problem of understanding the mass defect of the nucleus. It lies in the fact that the measured mass of a nucleus is always less than sum of the masses of the nucleons.
This is expressed by the formula:
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– "Berkeley Physics Course"/Volume IV/ «Quantum Physics"/ page 74/ (33)/ "Science"/ 1977. The mass of an object is always measured either through gravitational interactions or through inertial resistance. The object is subjected to directional influence during the measurement. The elementary particles of the nucleus behave as process that takes place in time and space. During this process in relation to directional impact, the elementary particle of the nucleus shows either gravitational mass or the inertial mass. If the measurement takes place on the basis of inertial indication, then at the moment the nucleons are in the nucleus that show the gravitational mass in relation to the measurement and, therefore, do not participate in the measurement of mass. This non-participation in the measurement is sent in the ensemble of nucleons from one particle to another. For a clear understanding of this issue it is appropriate to compare the ensemble of nucleons with the chorus. Each participant of the choir sings, but in this process there is the time when the participant really sustains a note (sings) and there is a time when the singer inhales air (imbibe). In the chorus of 40 people at specific time during sing 36, and four of them inhales air and this process they are consecutively sent each other. The choir is of 40 people and each member sings, but also, at a specific time during, only 36 people are singing. From the same literature (1) we note that the mass defect 
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reflects the energy of the nucleons in the nucleus, which is equal to
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. The binding energy per nucleon is approximately constant for all stable nuclei and is close to the value of:
(1) 
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(2) The problem of mass defect of the nucleus is connected with the problem of obtaining gravitationally-polarized material because gravitational polarization effects on the mass defect of the nucleus and thus effects on the energy of the nucleons in the nucleus, i.e. effects on the strength of the atomic nucleus.
 
Along with getting the gravitationally-polarized material by the "deep" magnetization there is another way.
 
From the special relativity theory it is known that with increase of the rate of the body occurs growth of the body weight and reduction of the size of the body in the direction of its movement. See (4) - "Berkeley Physics Course/" Volume 1/ "Mechanics"/ Ch. 11 and 12/"Science"/ Moscow/ 1975
There is a Lorentz transformation, reducing the size of the body in the direction of motion:
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     [ 6 ]
The reduction in the size of the body in the direction of motion occurs due to the fact that at the quiescent state the electron shell of the atom forms a sphere. With the growth of the rate, the orbital planes of the elementary particles gradually begin shifting in the plane that is perpendicular to the direction of motion. The orbits of the particle of an atom form a helix in the direction of movement. As the velocity rise, the helix pitch distance is decreasing. In the plane of the orbit of an elementary particle there is always the plane of the particle itself. And because the particle itself is flat, i.e. two-dimensional, then the moving body in the limit of growth rate is reducing its size to zero. In the gravitational plane the gravitational mass is concentrated; in the direction of motion of the body inertial mass is concentrated. The process of polarization of mass of the moving body occurs.
 
If we during formation of gravitationally-polarized material use both "deep" magnetization and polarization due to the speed, it will be a third way to get gravitationally-polarized material combined, which can become more efficient.
 
At this stage it is appropriate to mention another property of the gravitationally-polarized material. With the growth of the rate of the body and thus increase of the degree of the gravitational polarization, the process of reducing the "mass defect" of the nucleus of an atom occurs. That leads to reduction of the strength of the atomic nucleus in the direction of motion. Because the nature of the forces acting in the nucleus of the atom and the forces between atoms, the forces responsible for the strength of a solid body is the same, then the effect of the "mass defect" is characteristic of the interaction between the atoms. Consequently, the solid body with increase in speed of movement loses its strength and can break much before reaching the speed of light.
 
Above it was shown that the nature of the electric charge of the elementary particle is related to its orbital motion. Orbital motion occurs in the interaction of two-dimensional particle with an external vector field.
 
During the translational motion of a charged elementary particle orbits are organized to form a helix, with the growth of the speed the helical pitch decreases. During all experiments and tests we do not get the speed of the particle, we get the projection of the particle velocity in the orbit in the direction of propagation of the spiral. See diagram 12.
(4) - "Berkeley Physics Course" / "Mechanics"/ pp. 426, 427.  The cyclotron accelerates the electron up to speed
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Electron velocity is not up to the speed of light only 0.00001%. And the speed
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 is the speed of the spiral. And the path of the electron through the spiral is much longer. In the same place: "In the cosmic radiation, apparently, the protons are detected with the difference
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Therefore, the speed of the electron in the orbit is a hundreds of times faster than the speed of light. And the proton velocity in the orbit is a thousand times faster than the speed of light. Presumably, the speed of the electron in the atom on the orbit is faster than the speed of light by many times. And the speed of the proton in the nucleus of the atom on the orbit exceeds the speed of light in a thousand times. In this case, the elementary particles do not feel the centrifugal forces, as in this movement there is no inertia.
 
Once again I draw your attention to Scheme 12 Fig. 23.3. The picture is taken from "The course of physics" A.A. Detlaf and B.M. Yavorsky/ "Moscow"/"High School"/ 2002/ chapter 23. "The movement of the charged particles in electric and magnetic fields." On page 297.
Comment Fig. 23.3, paragraph 4 of the complete column.
 
"If a charged particle moves in a inhomogeneous magnetic field, the induction of which is increased in the direction of the particle, by the movement of the particle the values of r and h are reduced. Consequently, the particle moves in the torsion spiral that winds around the line of magnetic induction field. "
 
As can be seen from the figures, the motion of electrons in a magnetic field has nothing different from the motion of the electron in the atom when the atomic velocity V and the axial velocity of the distribution of the spiral in the magnetic field is also V, i.e. they are the same. In the experiment that speed V is available in measuring.
 
Speed ​​V tends to the speed of light, h tends to zero according to the Lorentz contraction.
 
The size 2r is a diameter of the orbit, though it decreases with increasing of the electron energy, but it cannot be less than the nucleus of the atom, and certainly it cannot be equal to zero because of the law of conservation of electric charge. The length of the orbit of the electron motion may be 100 or more times greater than the pitch of the helix, the size of h. Both distances must be traversed by the electron at the same time. Therefore, the speed of the electron in orbit may be 100 or more times greater the speed of light. Velocity V of the electron can be up to 99% of the speed of light. This is possible only because the gravitational plane of the electron is always in the plane of the orbit of the electron. The electron in the orbital motion doesn`t show the inertial mass.
 
Above was given the extensive evidentiary basis that allows us to move to the formation of the formula of the proposed invention. It can be presented in such way.
 
The substance of the crystal structure is characterized by presence of a pronounced plane of the gravitational mass - the plane in which the greatest value of the gravitational mass of the substance is manifested, and the direction that is perpendicular to this gravitational plane, in which the greatest value of the inertial mass of the material is shown, due to the synchronization in the direction of gravity properties of the elementary particles of the material.
 
The UPI, on the basis of which is developed the above mentioned invention, rejects the Newton's First Law of Motion, which stands in the service of science for three and a half centuries. In this regard, there is a need to stop and discuss the situation. The Newton's First Law of Motion states that the body moves uniformly in a straight line until the force applied to it brings it out of this state. The UPI states that the movement of the body in space is a set of movements of the elementary particles in the body. And each elementary particle gets movement in result of the interaction with an external vector field. This interaction is a quantum and therefore the motion of the elementary particle is quantum. If the parameters of the elementary particles and the parameters of the external vector field are constant in time and space, we get the constant motion of the body. If the parameters of elementary particles or vector fields vary in space and time, we get uneven movement of the body. It follows that the body can only move in the environment with which the body interacts. Such environment is an external vector field.
 
At the time, Newton said: "It would be very important to find two or three principles and on the basis of these principles to describe all the phenomena around us, although the sources of these principles would be we unknown or incomprehensible to us." In these words lays Newton`s activity program. And Newton's First, Second and Third Laws of Motion and the law of gravity are the realization of this program. Second and Third Laws of motion can be verified by the test, having spent quite simple experiments. And with the experiment we confirm the existence of these laws. As for the First Law of motion, there is no experiment, especially in times of Isaac Newton that confirmed or refuted this law. Newton took the law in all probability as a principle or as a postulate. The postulates are accepted without proof and are the starting point for further discussion and justification.
 
The first clash of the scientific community with the First Law of Motion was at the debate about the existence of Ether, the environment for the propagation of light, in the justification of the wave nature of light. The scientific community realized the necessity of the environment at the opening of the electromagnetic waves. At first it was not known that the electromagnetic waves and light waves are the same. Many experiments have been set to detect the Ether. However, neither experiment has shown that Ether has resisted to moving body or added by the moving body. Experiments with Ether were put to end. It was in vain. It was a mistake. Considering the Ether as the environment, which is essential not only for the wave motion, but also for any movement, including translational motion, we get a very different picture of the world. The Ether was abandoned formally. Scientists continue to study the Ether, but "in secret" with different name "The physical properties of the vacuum." And thus they are "scratching left ear with right hand."
 
So, for the translational motion of the body it is necessary an environment – the Ether, with which the body reacts. In this regard, Ether provides resistance to movement of the body and is not added to the moving body. In nature there is no First Law of Motion. 
 
The absence of the First Law of Motion leads to new perspectives in the issue of the birth of the universe. Commonly accepted position that the universe was formed in result of the "Big bang" was very poorly justified before, because nothing was said about the causes of the explosion, in this model was no cause and effect relation.
 
The universe could not been formed by the explosion, as explosion as a movement is possible only in an existing universe. There is Ether - the explosion is possible, there is no Ether – explosion isn`t possible.
 
For this reason, the model of an expanding universe must be rejected. The Expanding Universe is a slow explosion.
 
In connection appears a question: "What is the reason of the" red shift "of the spectrum of the electromagnetic waves in the universe? ". Answer: The reason is the "aging of photons." Or expressing this thought with another term by the increase of the entropy in the universe. External vector field, Ether, takes energy from electromagnetic waves. In the system of interaction between electromagnetic waves and Ether occurs the process of the Entropy growth.
 
Let`s trace mentally the growth of entropy in the universe.
 
The Sun, radiating energy, loses its weight. In the literature a specific figure can be found, how many tons of mass Sun loses during the year, this figure is very impressive. In this connection, the planets that move away from the Sun fall into the space with less curvature. It may come a time when the Sun will lose its planetary system. The planets will fall into the space with a very small curvature. Heavy atoms or atoms of heavy elements cannot be sustainable in the space with lesser curvature and that`s why they fall into the elementary particles. Without dwelling on the details and subtleties of the theory of stability of material in the universe, we state that 98% of the mass in the universe is composed of hydrogen. Elementary particles, radiating electromagnetic waves, are also dissolved in Ether, in the vector field. With the loss of the elementary particles the material loses translational motion. We ascertain it. With growth of the entropy the universe consistently loses one property after another. With a further increase of the entropy, electromagnetic waves, losing the energy, decay in the Ether, in the vector field. With the loss of electromagnetic waves, oscillatory motion, material loses the property of time. There is no vibrational motion that`s why there is no time. However, the beginning of something or the end of something is the element of time. Consequently, we can affirmatively say that, "The universe never had the act of birth, and will not have an act of death. The universe is eternal. In the matter of creation of the universe egocentrism of a Man proclaimed. How it`s possible? I am a man, I have a birth and death, and the universe is eternal ... That's no good. I put my "baby shirt " on the universe, saying, "now you will also have a birth and death. "
 
Thus, with the growth of entropy the material consistently losing one property after another begin to possess only one property - a characteristic vector. And this vector is the velocity vector. Here it should be noted that material in such an amazing and secretive way "packed" in this vector two properties: movement and time.
 
The material, having only one feature vector, occupies some space. And here raises the question: "is the space a property of material or it is independent and the material has only rented the space for it? Is there a space that is absolutely empty, that has no properties, except the property of the length? ". These questions we will not discuss and resolve here. But we raised these issues because we need to say that space and time have no relations between each other. Therefore, the continuum of space is no more than artificial fiction. However, there is a continuum: if there is a time, there is a movement. There is no time, there is no movement. Conversely, there is no movement, there is no time. There is no movement, there is no time. And the continuum is the speed.
 
The Earth moves on the orbit with speed of 30 km / sec., which leads to a reduction in the size of the Earth in the direction of movement according to the calculation, the calculation is 6 cm from the formula [6]. Speed ​​in this process is the cause and size of the reduction is a consequence. This is the physics of the process that is common nowadays.
 
Above was outlined process, developed on the basis of quantum mechanics, in which the cause lay in the interaction of the body with an external vector field, and the reduction of the body and of the rate is a consequence of this interaction.
 
The outlined above theoretical part can be proved by experience.
 
In Scheme 13 is shown a diagram of such experiment. The essence of the experiment concluded in follows.
 
The Earth and the tested substance, orbiting the Earth at a speed of 30 km / sec., experience the phenomenon of polarization: increasing of the inertial mass in the direction of motion and the gravitational mass in the direction perpendicular to the movement. Test substance due to the magnetizing in the solenoid receives additional polarization. As a result of the experiment "in the evening" a test substance is allegedly behind the Earth. And before this should happen, the body must overcome the gravity, i.e. its weight. This should fix the scales.
 
In the experiment in the "morning" the Earth, is allegedly encountering with the test substance; the substance "inhibits" the motion of the Earth on the orbit. The scales should fix the increase in weight comparing with the experiment taken "in the evening."
Here are few words about the choice of for the experiment. It is know that the atom had the nucleus, which has a positive electrical charge, and there is an electronic envelope that has a negative electrical charge. Both charges cancel each other out, so the atom is electrically neutral.
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The fields are different on theirs size for different substances, fields cannot fully compensate each other. The substances which obtained the magnetic field with the same sign (direction) as that of iron are called "paramagnetic", they after magnetization increase the working magnetic field. 
 
The substances which the magnetic field of the nuclei are greater than that of the electron shell, the resulting magnetic field is obtained with the opposite sign (direction), these substances are called "diamagnetic." Substances on the basis of iron, "ferromagnetic" obtain the magnetic field on the basis of  the electron shell.
 
For the tests it is appropriate to take substances: diamagnetic and paramagnetic. Specifically, diamagnetic: lead (Pb), sodium chloride (table salt), (NaCl).
Paramagnetic: aluminum (Al), copper chloride (CuCl2).
What will be the results of the above experiment? The question remains open. The experiment is on the agenda.
 
A positive result will give an amazing, incredible opportunity for progress through the use of gravitationally-polarized material.
 
Author / M.S. Skamin /
   Annotation 
Gravitationally-polarized material is characterized with the fact that it had a pronounced plane of the gravitational mass; plane in which the material exhibits the greatest value of the gravitational mass, the gravitational interaction; and perpendicular to this plane is has the direction in which the greatest value of the inertial mass of the material is shown, due to the synchronization on the direction of gravity properties of elementary particles of this material.

In this article the theoretical justification in the creation of such material is set out, the properties of the material, its use and methods for producing such material.
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